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1. a8 9¥-d, qﬂw—g@m%wﬁ%mﬁﬁmﬁﬁmqw’mwﬂ%ﬁm@m

The question paper is in the form of test booklet. All candidates will be assessed on identical questions.

2. ah.uw.eR. e | Remd S emEs el 3 .. e | fored /N /aed F i et 3wl b e
FO & R Faw s Trge O (S = i) w1 I i

Read the instructions on the OMR sheet carefully. Use only Ball Point Pen (Black or Blue) for writing /
shading / bubble on OMR sheet and marking your answers.

3. el & e, oyt wenfiEl it FEE gEEE 6 Th STEMT 37T, AR, I Yie R smem| wen F ofd # AL
ofie it Tw F wERYE fg W e dfm S g it u. e, Ie wie Pt # g dfe ofit st Tl il
T I T
A separate OMR answer sheet with carbon impression is provided to all the candidates for answering. On

completion of the test tear the OMR Answer sheet along the perforation mark at the top and handover the
original OMR answer sheet to the invigilator and retain this duplicate copy with you.

4. ma@ﬁuua%mﬁwaﬂtmaﬁaﬁwé,%ﬂ%maagm%q(a),(b),(c)aﬁ'{(d)ﬁqm@l
37 & ae T & TR )

Each objective question is provided with a text and/or figures wherever applicable with multiple answer
choices (a), (b), (c) and (d). Only one of them is correct.

T SR % foru 3w gewere w1 siftw g8 9w/

Please see the last page of this booklet for rest of the instructions
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L gfz 3/32 = 2 @ x & OH T a1 @ | |
Find the value of x, if %/@ = 2
(a) x = 3/5 (b) x=5/3 (0 x=2/3 d x=1/2

2. T4 <ufu o eER, ww faforer, et Brsen o @ 3T 91 ‘m’ 8, < =1 1R U 91 991 71 afg ffae
I AR E T A0 S AT ‘D' T AT gl IR A 6 gy, faferst s am |

A cord is wrapped around a cylinder of radius ‘r' and mass ‘m’ as shown in the figure. If the
cylinder is released from rest, the velocity of the cylinder, after it has moved through a distance
‘h’ will be

(@ (gh)"™ (b) (gh/3)" (€) (4gh/3)" d (2gh)"

3. T & famear w1 faga =il § 9 form yeer & ugred & fore 3ugwh 27
Guest’s Theory of failure is applicable to which of the following type of material?
(a) @ /Ductile (b) T / Brittle

(¢) wemEY / Elastic (d) werfEes / Plastic

4. o # guie v ogEn, 1 m ost wEft @ wesk 5 R, wR At a1 & S § 0.5 fR.am. wr areft meft
el STt 21 et @ ST 320 om S0 36 Sar gl 90 @R gl mef ol & anfl|

&

(SrET g = 10 m/sec?) |

A bullet weighing 0.5 kg was fired horizontally into a sand bag weighing 5 kg suspended on a
rope of 1 m long as shown in fig. It was found that the bag with the bullet embedded in it
swung to a height of 320 cm. The speed of the bullet as it entered the bag is

(Take g = 10 m/sec?)

(a) 88 m/sec (b) 44 m/sec (¢) 176 m/sec (d) 22 m/sec
TA-01 3 March 2020
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. g‘rg%:ﬁawm(m@)ﬁomwﬁﬁﬁNﬁéﬁ@ﬁ%ﬁﬁm%wwﬁﬁ
an“r%,ﬁiNfzﬁ%ﬁ%,ﬁwwﬂmzoélwﬁgmﬁﬁsﬁga‘wk%aﬁ?@ﬁ%‘naﬁgﬁm
————— &

A helical spring has N turns of coil of diameter D, and a second spring made of same material,
has N/2 turns of coil of diameter 2D. If the stiffness of the first spring is k, then the stiffness of the
second spring is given by

(a) 4k (b) 2k ) kid ) k8

6. -1 cuie mu S wR Sonen % S A erghr N R ok ofit W & v S g 1 s
& we, S - 11 8 e @ g, @ st =0 g ?
For the spring mass system shown in the Figure |, the frequency of vibration is N. What will be
the frequency when one more similar spring is added in series as shown in Figure II?

k
k
k
*X m m ix
Fig. 1 Fig. I1
(@) N2 ) 2N © N2 @ N

7. ﬁmﬁmﬁmm,ﬁaﬁ@%ﬁgﬁ%ﬁa%&mﬁm&ﬁﬁm#%ﬁ(ﬁﬁm
thiew) it gear ——— FAl/

The number of degrees of freedom of a five link plane mechanism with five revolute pairs as

shown in the figure is
jk
©)
5 2

(a O (b) 2 () 7 (d 22

TA-01 4 March 2020
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8. STATTHR €8 &1 AT 1.5 x 106 mm? 21 4l x, y 3R z feamett & wfdsa @ 100 Mpa, 150 Mpa
3t 160 Mpa @ dF 7@ # =1 ufEdd gl (ST oo Aiged K = 2 x 10° N/mm? and 9@ S1gard ‘
p=0.3)

A rectangular bar has a volume of 1.5 x 10° mm?®. What is the change in volume, if stresses in x, |

y and z direction are 100 Mpa, 150 Mpa and 160 Mpa respectively. (Assume Bulk Modulus
K =2 x 10° N/mm? and Poisson'’s ratio p = 0.3)

(a) 2000 mm?® (b) 1500 mm? () 1230 mm? (d) 1000 mm?®

9.  afg e (Poisson) % 3TUI 1 A I & dl geh! a1 8 b —————— |
If the value of Poisson’s ratio is zero, then it means that |
(a) T gg ® / the material is rigid
(b) et yuia: wifees ® / the material is perfectly plastic
(c) werd # st fapfa 7 & / there is no longitudinal strain in the material
(d) 378 @ I3 T8 / None of the above

10. UM TR HE 9 qeiaiern (hear) sha feeh derd L # ofit st gear El §, & w uid gfe
TS AT ST WR § g9 ®9 @ Wil o mn 81 st o atfieran Featr fage ———— R

A cantilever beam of length L with uniform cross-section and flexural rigidity, El, is loaded
uniformly by a vertical load, w per unit length. The maximum vertical deflection of the beam is

given by
(a)  wL8El () wLY4El () wL16El (d) wL*24EI
11, ST 35 -WIU W STETE RGN SIS HIC & iF i Tq&90 e foqwon g ——— 2

Shear stress distribution diagram of a beam of rectangular cross-section, subjected to transverse
loading is given by

(a)

(b)

(c) - (d)
TA-01 ' 5 March 2020
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12. 99 fou o fom #, sreen (2) § uiy T gER, e A wd B ugre g w9 ¥ fown uwd §1 afe @
ey (3) W TR B TR i Uk S @

In the diagram shown below, material A and B expand freely as shown in condition (2). If
expansion is prevented to reach equilibrium condition (3), then

Material A

1linitial position

4 Material B

2) Free expansion
due to temperature

3)Expansion prevented
for equilibrivm

(a) T B g uared A TR STl T A e, A g B W ST T @9 I o @HH @ / Tensile force
exerted by material B on A is equal to tensile force exerted by A on B

(b) weed B g1 uge A W Sl Tl Gfie o, A gRT B W ST T wfis el % §AH & / Tensile
force exerted by material B on A is equal to compressive force exerted by A on B

© W B g ugd A W S T ddiew §e, A gRI B W S T G 9 % @AH &/
Compressive force exerted by material B on A is equal to tensile force exerted by A on B

() @ srEeer W affy "ew W wiE o« 9WE el sreral / No force acts on the composite
member in equilibrium condition

13. Freafefaa amet 8 @ SF-T1 9 79| 8 7

Which of the following statements is wrong?

(a) TdET % AR g4 Ud @ § A 1 SR g @ / The heat transfer in liquid and gases
takes place according to convection

(b) feft fiig & o varg o wEn, fie @ ggrd @ =1 2, 39 W R gt @ / The amount of heat
flow through a body is dependent upon the material of the body

(c) WHH % wed ¥ 3g uig i ardfir =TerewRar 9¢ Sdt @/ The thermal conductivity of solid
metals increases with rise in temperature ‘

(d)  TUNRR WIS AIHE Sl SFe, THIG HTEI A9E S 3Tat % @HH Tl gl / Logarithmic mean
temperature difference is not equal to the arithmetic mean temperature difference

TA-01 6 March 2020
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14. w0 o1 feomsT s 8 sniiAifeg S eI | W@ & 3 ———— B

The objective(s) of considering ergonomics in machine design is/are fo

1. siffaes ufoeret st o2 % 7T / Decrease physical stresses %
7% TRIHN S TN 3T s W foTT / Make the user adapt to the machine
3. U I TR % A 9 % g / Make machine fit to the user

4. 3 i fG@mEe S guard % faw / Improve appearance of the product

(a) “Ha@ 2 /only 2 (b) 3Wd 4 /3and4 i
© 1w 3/1and3 @ 1,3W4/1,3and4 ‘
15. o % Fecd S0 N el 3787 % TR TE 1 WAW &% I A Hl I ———— Bl 2

Ratio of moment of inertia of a circle and that of a square having same area about the centroidal
axis is given by

b 3
@ = R
@ = @ 2

T T

16. AR 3<X<53MB8<Y <11 Fi=feriaa fomes & & = o 87

If3sX<5and8 =Y = 11, then which of the following options is true

(a) §s£s§ (b) ESE,SE
5 Y -5 1 Y 8
(c) iéésﬁ (d) égg_s_S_
1 Y 5 5 Y 11

17. S 9ge Ch Sikew /A i aE 8 Cellfeesh STaedn a9 faeha TSR Sman B qe seem W foeer afie d
T ST & 3R foreiiva: i 98 weg 8| 3o I8 SWaER —— A &l

When a specimen is first plastically strained in tension, its yield stress in compression is reduced
and vice versa. This behaviour is known as

(a) IR w9E / Bauschinger effect (b) wamE 99 / Poisson’s effect

(c) = gl / Work hardening (d) ufderet gA: WIfd / Stress recovery

TA-01 7 March 2020
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18. fm # fRu mu fews (Afden) =1 9w m & S AR k areft fEm & dag 8, S % fom § fegmn mn 2|
feor T AR Toae wae T U BT 21 30 STl & 0 T ST e H

A disc of mass ‘7 is attached to a spring of stiffness k as shown in the figure. The disc rolls without
slipping on a horizontal surface. The natural frequency of vibration of the system is given by

Vil diieiids

//////////////////// S
1 |k

1 1 [k
27 \m

1 L [2k 1 [3E
2r \m

a — d —
@ 27 \3m (d) 27 \2m

(b) ©

19. Freferfaa wfea § @ g o sfted! Yare Sl HIw0T dr] T 8 ?

|
The steady flow energy equation is applied to which of the following processes? 1
(a) U3 @eA WaT@ / Pipe line flows (b) AT STar WfRAT / Heat transfer process |

(¢) €& ufseam / Combustion process (d) 39U @t / All of the above

20. A |4x -7 =5 @ 2x| - |- x| 1 HH FR?

If |4x—7|:5.thenthevalueof 2| - |- | is,
1 1 2 1 2
(a) 2,5 (b) 5,3 (c) g,g (d) 5,3
21. Teed (am % IR, Gl & 0 1 Fe g % | 2l

According to Dalton’s law, the total pressure of the mixture of gases is equal to
(a)  @sft % anifiew g ¥ 1 / Greater of the partial pressures of all

(b) = % enifirek g T efwa / Average of the partial pressures of all
(c) st % =7ifarek <= =1 A / Sum of the partial pressures of all
@ = F il gw F @m w0 e R anfvasm Wit @ fRe T W/ Sum of the partial

pressures of all divided by average molecular weight

TA-01 8 _ March 2020
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99 R freem areht TremsR fewh v AT % mmy fen it et At 81wl g fom A P ferg o S ok wiom
H! -

A circular disc of Radius R rolls without slipping at a velocity v. the magnitude of the velocity at \
point P as shown in fig is ‘

- B
@ 3v ® 3 (v/2)
© (/2 @ (ev/43)

93. SIe 9 T STIHTIeh a1g 1 37— 2
Scavenging air in diesel engine means
(a) fTuferet = sfiafera s &g Yefera =g / Forced air for cooling cylinder
(b) & % Il g &y a1 / Burnt air containing products of combustion

(© Freprem i omfy % o, o ¥ fifaet @ @y e o o et e g ST 6§y
/ Air used for forcing burnt gases out of engine’s cylinder during the exhaust period
(d) <= # g 7 ST hit T a7 / Air used for combustion under pressure

24. W % GqH AIHF I, AHE § sgerd e e, 1 fRn. 9@ % ardie g st e
Fgad ol

The amount of heat absorbed to evaporate 1 kg of water from its saturation temperature, without
change of temperature, is called as

(a) @ s @ FSAT / Sensible heat of water
(b)  arsdteRtor it W T / Latent heat of vaporisation
(¢ = & et (i-Fe) / Enthalpy of steam

(d) a9 i Tt / Entropy of steam

TA-01 9 March 2020
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95.  wrsRIARe = H, amdar wh arT Tt St 2
In a psychrometric chart, the humidification process is represented by |
(a) Seatr Y@ / Vertical line (b) 3@ X@T / Inclined line
(¢)  wWaela W@ / Horizontal line (d) = @ / Curved line

26. fi=fofea # @ = fam-ga 272

Which of the following is dimensionless?
(a) Tafdre W / Specific weight (b)y fafie wfd / Specific speed

(c) fafste e / Specific gravity (d) faf¥re smaas / Specific volume

27. Tt gvat & & fo awae frod dwvae w& & w0 27

In which of the following views, the picture plane is the same as the plane of projection?

(a) fd® gv9 / Oblique view (b) <RIV g¥a / Orthographic view
(c)  HcH gva / Perspective view (d) @ gva / Pictorial view

28. = # ¥ H-T1 919 g3 % T Iugw 77
Which of the following statements is applicable to liquids?
(a) oa =i gdifsq & fmam s @kt / Liquids cannot be compressed

(b) g 1 TEA i g 8 / Liquids occupy definite volume

(¢) o9 W T Td q9HE H qiEda S S5 YW@ T8 gsa1 / Liquids are not affected by change in
pressure and temperature

(d) =78 ¥ =15 T8 / None of the above

29. fr=fafad # @ wiv-dt dgha a7 H1 WSS % T H ST S 77
Which of the following cycle uses air as the refrigerant?
(a) S / Carnot (b) T / Sterling

(c)  Uf&Ed / Ericsson (d) wa-iaT / Bell - Coleman

TA-01 10 March 2020
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E

31.

T B R T th e F o S sE st F % W A S g A iyE a9
1 BT 3 |

The apparent weight of a man in moving lift is less than his real weight when he is going down
with

(a)  ®HM A / Uniform speed (b) T / An acceleration

(¢) & @I / Some linear momentum  (d) HeT / Retardation

fTafmaa 8, — &) o g1 TREW & o= o7aia fFar s aewar 2

In an isolated system —————— can be transferred between the system and the surroundings:

(@) T8 YR T A / Neither mass nor energy

32.

33.

TA-01

(b) R 3R F=it gl / Both mass and energy
(c)  %ad YR / Only mass
(d) a@ =t / Only energy

2N 9R A1 T 5ot 1 m hil S8 4 O 0 &% SR F FW frar 71 9l 3w 9/ = fow wew 3
=g T8 0.1 m o wfifea &t wmar & & f&m =1 fors —— g

A block of weight 2N falls from a height of 1 m on the top of a spring. If the spring gets
compressed by 0.1 m to bring the weight momentarily to rest, then the spring constant would be:

(@8 50 N/m (b) 100 N/m (c) 200 N/m (d) 400 N/m

e AT % e o gu el am i e g @ S R | A s e gl S|
If the radius of wire stretched by a load is doubled, then its Young’s module will

(@) AT / Double
(b)  emfed WM/ Remain unaffected

(c) =R TAT & ST / Become four times
(d) UFH-=NUE & T/ Become one-fourth

11 March 2020
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34. ™ | W& || Y 94 H BA e

Match the items in column | and |l

™ / Column | Hiet™ / Column 1l
P. =l 9te1v1 / Charpy Test 1. at@dn / Fluidity
Q. 79 W& / Knoop test 2. gzH-warar /Microhardness
R. Tt il / Spiral test 3.  fa=taan / Formability
S. g wfierr / Cupping Test 4.  3gga1 / Toughness

5. Um=dr / Permeability

P Q R S
(a) 4 5 3 2
by 3 5 1 4
(c) 2 4 3 5 |
@ 4 2 1 3 ‘

%
35.  afg wh famiw Fe-C fiereng & shrei ol Wi 0.83% ¥ A 8 d1 a8 FHEardt gl

If a particular Fe-C alloy contains less than 0.83% carbon, it is called
(a) 3= Wi 399Td / High speed steel

(b) 3T PeFerss $EUT / Hypo-eutectoid steel
(c)  eAfd-geaeredt s9Td / Hyper-eutectoid steel
(d)  g@ai @it / Castiron

36. Tt fis =1 3z fog, o w ga & whomd ga =6 = ETIGUE]

The point in the immersed body through which the resultant pressure of the liquid may be taken
to act is known as

(a) = g / Metacentre

(b) T %hg / Centre of pressure
(c)  Sccrashar shg / Centre of buoyancy

(d) 7% =g / Centre of gravity

TA-01 12 March 2020
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37.

38.

39.

el el 35 e A R e g 36 R e e e R g e g

Match List-l with List-Il and select the correct answer using the codes given below the lists

List-l List-lI
(A) Fihs FE WManical work equation 1. Wﬁﬂ?&@ﬁfﬂ/ Clausius-Clapeyron
(B) [dQft <0 2. firssrm @Rt / Gibb’s equation
(C) <Gy @M/ Zeroth Law 3. 3= #oft St / High Grade energy
(D) H-Ts 4. amm i Gwean / Concept of temperature ‘
A B cC D i
(a) 1 3 2 4
(b) 3 1 2 4
© 4 2 3 1
@ 3 1 4 2

logT[L] % A AT A
343

Calculate the value of log; .
343

(a) -3 by 7 (0 -7 (@ 0
Hfca-wetieh & aehed & AR, W Ife s i wen emya 7, S ST AN B
el <5k 9 1 Ll B

According to Kelvin-Planck statement, it is impossible to construct a device operating on a cycle
which transfers heat from

(a) 3= A9ME & ST WSRO i qEW YR 9%/ High temperature heat reservoir to low
temperature reservoir .

(b) I T Al FoAT HeR ¥ 9 g I e Yew @& / High pressure heat reservoir to low
pressure heat reservoir ‘

(c) T T I Soa1 YR ¥ 3= g aTel T WeR a& / Low pressure heat reservoir to high
pressure heat reservoir

() T qIIaH % e WeR & 3= aT9HE ST WER a% / Low temperature heat reservoir to high

temperature heat reservoir

TA-01 13 March 2020
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40. f= d 9 fored g fomn =i 87
Which of the following do not have identical dimensions?
(a)  HaT wE &M / Momentum and impulse

(b) = 1 3Pl UE FHF HHT / Moment of a force and angular momentum
(c) TSt Sl wd favta Sl / Kinetic energy and potential energy
(d) = gl @ S / Torque and energy

41.  wifeeT ¥ UgsR w wE H
The purpose of riser in casting is to

(a) S Al G F SET I W =T FH W FET / Feed the casting at a rate consistent with the
rate of solidification

(b)  fomeht u1g % fAU W) =1 %™ FET / Act as reservoir for molten metal
(c) S T HIFET % wor § WEEal HET / Help feed the casting until solidification takes place
(@) =9 g M fuEet a1g F W w1 / Feed molten metal from pouring base to gate

42.  AEE 5,000 %, IUR AT ¥ 3 T €9 H 500 %, B F w0 Az 10 Fredl # a0 W wEEd B
& T, s forea el forea & 10 =, =0 31 o el ofie oifom frea Reaeft Brft?
Abhinav borrows Rs. 5000/- and agrees to repay with total interest of Rs. 500 in 10 installments,

each installment being less than the preceding installment by Rs. 10/-. What should be the first
and the last installment respectively?

(a) 505, 415 (b) 500, 410
() 525,435 (d) 300, 210
43.  yeeht fit gaw W yewE an 2|
The escape velocity on the surface of the earth is
(a) 1 km/sec (b) 3.6 km/sec
(c) 8.8 km/sec (d 11.2 km/sec
44. =t fgmedl # qum verer Qo B aren uerd FEeTaT B
Materials having same elastic properties in all directions are called
(a)  ameEl e / Ideal materials (b) @A et / Uniform materials
(c)  wwefs werd / Isotropic materials (d) =g werd / Orthotropic materials

TA-01 14 March 2020
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45.  Tepe F fa & TET fagia T e g |

The motion of rocket is based on the principle of conservation of

(a)  IRaw @am / Linear momentum (b) =T T / Angular momentum

(c) i =it / Kinetic energy (d) g [/ Mass
46. CPM 2l

CPMis

(a) wHARgEt gATE / Time oriented technique
(b)  HIA-3g@ k1 / Event oriented technique
(c) HEgE Tt / Activity oriented technique
(d) wEA=TE g / Target oriented technique

A7, TETd ¥ SAGRIGh FrW ¥ STER, UE.as. (SI) e § SEehl worar (HB) To A wmed (TS) H weY @
S

As a rule of thumb for most steels, the hardness (HB) & tensile strength (TS), in Sl units, is
correlated as

(a) TS=345xHB (b) TS =500xHB
(¢ TS=225xHB (d TS=475xHB

48,  feu o fx # whefia vew ¥ uw fig W afeee 1 Rfd g 7w 21 S¥ , ox = 200 MPa, oy = 100
MPa , Txy = 100 MPa 379&qr gfceret =1 21fEmhad 91 il

The state of stress at a point in a stressed element is shown in the figure. Given that ,
ox = 200 MPa , oy = 100 MPa , txy = 100 MPa, the value of maximum shear stress will be,

1
e
<f

Oy
(a) 2545 MPa () 5045 Mpa
@ 10045 MPa (d 20045 MPa

TA-01 15 March 2020
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49. wa.3md.(Sl) Ifve H ygnfoe vamar i g 2l
Unit of kinematic viscosity in Sl units is
(a) Ns/m (b)  Ns/m?
()  m?sec (d Ns%m

50. Tt & uh iR @ T my 1 IR m, % YR ATelt aEg i oS o et wag W gura 8, sen T e
it TR 1 A B W my, % AT g R feEn S At et i qwrar smen sig st L s
m,
1 /I ?

A mass m;,, hanging at the end of a string moves a mass m; along the surface of a smooth table
as shown in fig. If mass m, on the table is doubled, tension in the string is increased by one-half.

Find the ratio of s
1'112

ma2
mi
(a) 2 (b)) 1 (0 172 (d 4
51. TS 600 kW =hl 3IcI1e hiaT & 31 IHeht &maT 40% 2 at faw feaega B
The output of a turbine is 600 kW and efficiency is 40%. The input power is
(a) 1200 kW 7 (b) 1500 kW
(c) 1800 kW (@ 2100 kW

B2.  wer argET < AR 80.5° & 3T 70° A 90° 1 mH or # siwwieT A% F ~0.25° 1 GUW ¥ T AOHA
[ETEI

A thermometer reads 80.5°C and the correction from calibration curve is -0.25°C in the
measurement range 70°C to 90°C. What is the true value of the temperature?

(a)  80.75°C (b) 80.50°C
(c) 80.25°C (d) 89.75°C

TA-01 16 March 2020
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53. afe & ¢ Afdww (an=g) fargem & Ot “a” 1 Wi w1 g Y

54.

55.

56.

(s )

Find the values of “a”, if the given matrix is singular

a -1 -3
3 2 3
2 1 2
(@ -3 (b) +3 ‘
|
(© 2 @ -3/2
ATl qu #, e Srasieh(3gl) T A A et 7 @t foenfa s ¢ T 2
In a centrifugal pump, when the impeller speed is doubled, head developed becomes
(a) 1.414 7 /times (b) 1.5 /times
() 27 /times (d) 47T /times
TE A H A

Select the correct statement:
(a) Tocd el 3R TAE T S 1 SIS hl AT FErdl @ / Weber's number is the ratio of
gravity force to surface tension force

(b) o 9 IR Tqg T Sl 1 AU Je Y HEAT FEArd! & / Weber's number is the ratio of

inertia force to surface tension force

() YA 9@ 3R @ S HT UG I h GE&AT HEardt @ / Weber's number is the ratio of

viscous force to pressure force
(d) o oo X TEl TeAEY st HI TG oo 1 Tl Feardt @ / Weber’'s number is the ratio

of inertia force to surface elastic force

s Ty 3 e I9Ten W O fie foa oft w ue ot St wifeRan feRaft 2 7

In simultaneous throw of two coins, the probability of getting one head and one tail is
(a) 1/4 (b) 1/3

(0 12 (d) 2/3
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57. Trfafaa #§ & frg sgieET & a1 Ugia & fFoareT it ga i gy stiees wen faifa 6t s 27
Octane number is determined by comparing the performance of the petrol with which of the
following hydrocarbon(s):

(a) EH-3ATHA /Iso-octane
(b)  3Tew tHerse FuwdefiT / Alpha methyl naphthalene
(¢)  TH-3NFA T MR g 1 3w / Mixture of iso-octane and normal heptane

(d)  SufhT ua T =1 s / Mixture of paraffin and aromatics

58. U fis # form = nfcrefierar & it & wfta 6 srfirgfa HEAT! 8l

The tendency of a body to resist change from rest or motion is known as
(a) =S / Friction (b) “&& /lInertia

(¢) goum™ / Mass (d) wfaUeh a7 / Resisting force

59.  Fgem 1 T FH % forg frafafea & @ fra fftr 61 swam wd foman Smare

Which of the following methods is not used for testing straightness?
(a) foufe = f&fer / Spirit level method

(b)  =afdtor f&fer / Interference method
() T a: gEmarE / Autocollimator
(d) dffw gaf= / Beam comparator

60. Frfafea & & w=n aoHRies #1 3eyT T8 87
' Which of the following is not the objective of annealing?

(a)  3Tafe gfisier st feRe T / Remove internal stresses
(b) T T SAHR it GRETNIG T / Refine grain size

(c)  ©T=A s U / Refine structure

(d)  wefif-&man s EAT / Improve machinability
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5. gt SEgE TR S THl & THE 3 81| e I o o ol 37, ITW A ¢ W I 3 e IW F o ues 31k

grel s | Tt g% & fore Uk | 3rferes 3w & et 3w AE S|

All objective type questions carry equal marks of THREE for a correct answer, ZERO for no answer and

MINUS ONE for wrong answer. Multiple answers for a question will be regarded as a wrong answer.

6. wu gitaes i qifedt I S & M W A @1 B @1 C @1 D fufga foren man g, &8 situm.em. sfie w, s &
ToTE1 aon a1 AT B 1 UET 9w W, ST~ 1 qodied Tl SR st
Question booklets have been marked with A or B or C or D on the right hand top corner, which is mandatory

to be written on the OMR sheet in the box and bubble appropriately, failing which, the answer sheet will not

be evaluated.

7. yfeent d 3uciey SR Y STEAYIRAT % STTER et I o I ITANT R ST weRar 21 otem @ e TE & S

Space available in the booklet could be used for rough work, if required. No separate sheet will be provided.

8. 3ufeufy sfic W gemar 0 @ wge, whemefl i sufeufy e w gfemen S foramn g whemeff =t sgm 7@ & am
& e g

Before signing the attendance sheet, the candidate should write the Booklet Code in the attendance sheet.

Candidates should sign against THEIR names only.

9. ullen & @ ° (1) we fuwwn fafe wen  sid da (2) g Nwn.em. Im wfe s w amg = qon
foreft oft wftfeufs o sremeff 8 9 & S

At the end of the test (1) Written test Call Letters(s) with photograph pasted on it (2) Original OMR Answer

Sheet shall be returned to the Invigilator and shall not be carried by the candidate under any circumstances.
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